'1- TR Y (i A A

Fet|isFa TECHNICIAN ‘B’ (ELECTRONIC MECHANIC)

01. 1C (FA) % MW & SR BT 2/ 1 C (Coulomb) is equal to the charge of
(A) 6.27 x 10" 3AFEH /6.27 x 10" electrons
(B) 6.25 x 10" ST /6.25 x 10™® electrons
(C) 6.25 x 10" WEH /6.25 x 10 protons

(D) 6.25 x 10" =LH/6.25 x 10" neutrons

02. V9 U TEHIRET WaeiHrR 1 fmer-uge Harfera fram ST 2 / When a differential amplifier is

operated single-ended?

(A) 3TIScYE UREE 2 / The output is grounded

(B) TH I UESS 8 IR TR R el T 71 2 / One input is grounded and signal is
applied to the other

(C) QI Y T |1 I3 TT & / Both inputs are connected together

(D) 3T3<YE 3T &l & / The output is not inverted

03. fire-%e Tt ureR | siees =Sifedt Bt & / Single-phase AC power has voltage peaks at
(A) 90° 3T 270°/ 90° and 270° (B) 0° 3R 180°/0° and 180°

(C) 180° 3T 360° / 180° and 360° (D) It H & IS 7= / None of the above

04. 9Ri #, IS @& A T{% w1 31ef 2/ In wires, increase in gauge number means
(A) TR STheT Sgdl & 311X AT T @ / Circular area increase and diameter decrease

(B) d@THR & HeaT & 3R I HedT 8 / Circular area decrease and diameter decrease

(C) <RI & TZdT 8 37K =A@ ST @ / Circular area decrease and diameter increase

(D) SRR &7 wedl % IR =™ Hgdl % / Circular area increase and diameter increase
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05. fr=faRea stiwel #, 5 @1 wdis ydd FIGER & TIY el HIEA B AT HaT 27 / In the

following figures, which symbol represents moving coil with thermal converter isolated?

O 1] (O] |0

. 7 < N A A
Fig A Fig B Fig C FigD
(A) FigA (B) FigB
(C) FigC (D) Figh

06. FHET-T o § Fe F w7 # 59 yeref 1 3w fFar ST 8?2/ In Carbon-Zine cell, which

material is used as cathode?
(A) T 1 Zinc (B) W 3M1@TsS / Mercuric oxide
(C) MnO,/C (D) TS SE3TETES / Manganese dioxide

07. & §HTE Y @ § el I 8, @ Fo 99T% il @ ¢ / When the capacitance is connected in

series, the total capacitance is?

(A) <TYcH Hufdg eI % 3¢9 B / Lesser than the smallest capacitance value

(B) Fufda e =Bl 3ﬁ1Tﬂ T 8 / Equal to the averagé of the capacitance values
(C) 3J=H Hfufedm b RIEE 21 Larger than the highest capacitance value

(D) <HY«H Eaterast e Gl % T 7 / Equal to the smallest capacitance value

08. frfoifed & & % @1 gwen # wrfiar TRy T FF T 87 / Which of the following statements

is false in series capacitance circuit?
(A) &t FIRPE | e UH B / The current is same at all capacitance

(B) T HARYeX 1 =SSR B / The charge of each capacitor will be equal
(C) Po TS Tl Hufet 9 % SUSt 2 / The total charge is equal to each capacitor charge
(D) W% Uk § dicest @HH B / The voltage across each capacitor is same
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09.

10.

11.

12.

1 kQ (freft-31w) Aepare # foielt 37Ue9T &1 9ar ¢, 3R AshAdiel & AT F 10 mA

(fireft—wrfRR) =1 SH™ J9T8 ® / Find the power dissipation in 1 kQ (Kilo-Ohm) resistor if there is a

current flow of 10 mA (Milli-Ampere) through the resistor

(A)  1W (Watt) (B) 01W
©) 10W (D) 0.01W
T Thigeehr uere g / is a diamagnetic material.
(A)  THMEA / Aluminum (B) YR / Mercury
(C) T / Nickel (D) TS / Manganese

gfe grg fRR 21 8 9ot =t ST/ 1f the time constant is 21, then capacitor will charge to
(A) 3T IRHan dieest T 86.4% / 86.4% of its maximum voltage
(B) 3H® 3TRrehaH dices T 86.2% / 86.2% of its maximum voltage
(C) 3HP AfIhan dieesl T 94.9% / 94.9% of its maximum voltage

(D) 3G 3ReHan diees I 86.5% / 86.5% of its maximum voltage

Ife Toh ZiEhE § W HEivE | 10 V (Aee) IR N-Te | 11V HT L 7, A LB H
IS %g@rm @R / If a transformer has an output of 10 V (Volt) at rated condition and 11 V at
no-load, then find the load regulation of the transformer

(A) 10% (B) 9.09%

(©) 10.1% (D) 9.9%
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13. i e § agad & fog Fiar et 3meege dieest ave W@ & forg faselt syl <t &mar =i
gl ST 8 / The ability of the power supply to maintain a constant DC output voltage for variation

in the load current is known as

(A) TwIEd ot / Line regulation (B) atees fafm T / Voltage regulation
(C) e faf™m / Load regulation (D) 39UE § & I3 &l / None of the above

14. T=faRad § & & we aieflor Sgestor 7€ 87 / Which of the following is not a peripheral device?
(A) T / Printer (B) TH / Mouse

(C) HT=H / Modem (D) wfla / Speaker

15. &% o9 UdHRR H, AL Fiehd! Bidt 8 / In a half wave rectifier, the output frequency is
(A) $TYC Hied! % sUSK / Equal to the input frequency
(B) %14 Bt % Q NG F T / Equal to two times of the input frequency
(C) 314 FIehdt T 38 S S / Equals to half on the input frequency

(D) ¥19e Fiehdt o Teh fagTs o sk / Equals to one third of the input frequency

16. 1 g IYTq Tf, S, die, o, s, Sfokius 7 i gidT 8: / The color code viz Orange,
Violet, Yellow, Red, Brown denotes the resistor value as
(A) 37.40 kQ (Kilo-Ohm) + 1% (B) 3740kQ £ 1%

(C) 3.74kQ+1% (D) 374kQ+1%
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: b

18.

19.

20.

a‘iﬁﬂ?.'(ﬁ — U ¥ Higel % HIC & JaI8 ! =BT @t 2 / In transistor,

controls the flow of current carriers from emitter to collector.
(A) GuTES / Collector (B) S31EIR /Base

(C) Icgsieh / Emitter (D) IUUH | W IS A&l / None of the above

i dices a9 (Tftrepam) R sfteht 148 gt § 99 et Sm W @ e S apar 2/

The maximum voltage Vgg(max) that can be applied across base emitter junction in BC148
transistor is

(A) 6V (Volt) B) 5V
(C) 3V (D) 4V

T UM SMUR TAABRR 1 9a0H o9 (31HT) & / The current gain a (alpha) of a common
base amplifier is

(A) 19 %9 /Less than 1 (B) 1 ssR /Equal to 1
(C) 18 3AMIF / Greater than 1 (D) 34 / Infinity

ﬁ{t{ Ri1ed afehd ﬁ, E&E’( BTN HIRRRIA I |1 %? / In the given circuit, which is emitter follower

configuration?

out

Fig a.
(A) Figa. (B) Fighb.
(C) Figec. (D) Figd.
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21, g ®, 98 fig e W 99 Hiie 3R Hadex Hie iftehad 8iaT &, Hgamdl & / In transistor, the
point at which base current and collector current are maximum is called
(A) EqRr g / Saturation point (B) He-31% foig / Cut-off point
(C) W fg / Quiescent point (D) 3I9F H & I T&f / None of the above
22. IUHTSH & @Y T&S § g ] 1.2 V (diee) 3 0.5 Q (W) & ATaies gfekie @t Svfisen 7 et
T 21 giemdt a9t @rft / Five cells, each with e.m.f. of 1.2 V (Volt) and internal resistance of
0.5 Q (Ohm), are connected in series. The resulting battery will have
(A) Th S.THTE 1.5 V &1 3K 0.5 Q &I aike T / An em.f. of 1.5 V and internal
resistance of 0.5 Q
(B) THh 3.UA.TH 9 V &I AR 3 Q T AT Jieie / An e.m.f. of 9 V and internal resistance of
30
(C) T 3.UA.UH 6 V 1 3T 2.5 Q = AR Teie / An e.m.f. of 6 V and internal resistance of
2510
(D) Th §T{TIEEB 9 V T 3 0.08 Q T i IfaQe / An e.m.f. of 9 V and internal resistance
of 0.08 Q
23. I 7@ 1 mA (Preft-wefier) ofiex & 100 Q (31W) &1 Hea@ wfedy 2, @ 100 V (diee) H 7O &
o e Steiass & fohg o St 3mareRaT 87 / If basic 1 mA (Milli-Ampere) meter has a coil
resistance of 100 Q (Ohm), then what value of multiplier resistor is needed to measure
100 V (Volt)?
(A) 99,900 Q (B) 99,000 Q
(C) 90,000 Q (D) 90,900 Q -
24. 3Tl«'=1ﬁf ey b, Sgd 3= ailTE[ﬁI s 2/ In frequency spectrum, Very high frequency band is
(A) 3x 10" to 3 x 10°Hz (Hertz) (B) 3x10°to3x10"Hz
(C) 3x10%to 3 x 10°Hz (D) 3x10°to 3 x 10°Hz
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25. yomEdt g b faRiSar 8 / The characteristics of alternating current is

(A) UNHIT THY % WY Feedal & IR TH-THy W {9 §¢e <A1 ] / Magnitude changes with

time and reverses the direction periodically
(B) 3Tgfi S 2 / Frequency is zero
(®)] e R &t ’3 / Direction remains constant
(D) 3T | & I T8 / None of the above

26. U ¥h I G H % T IAEd AR T AET A B / The mean value of alternating current for

completing the full cycle will be

(A) 3Fd / Infinity (B) ¥ /Zero

(C) T /One (D) 05

27. YIS 9W S e 7187 9 W SR &IT & / The root mean square value of alternating current

28.

is equal to

(A BrEg o EETTIT / Twice the peak value
(B) RIER A &7 3140 / Half the peak value
(C) TR AW 1 1/42 TAT / 1/4/2 times the peak value

(D) TrER 9H / Peak value

w2 # 20 V (SIee) H diees W@ % g 0.4 C (FHas) TN & & g Ffdw 79 7 +/

Find out the capacitance value to charge 0.4 C (Coulomb) to have a voltage of 20 V (Volt) across
the plate

(A) 50 T% (¥E) /50 F (Farad) (B) 0.02T% /0.02F

(C) 80T /80F (D) 02TH /02F
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29. ¢ TR AHA H WA diferswr & fog, v = / For the truth table of the given figure,
Y=__
A B Cc Y
0 0 0 1
0 0 1 1
0 1 0 0
0 1 1 0
1 0 0 1
1 0 1 1
1 1 0 0
1 1 1 0
(A) A+B+C (B) A+BC
€ A (D) B

30. T & ‘ng%IH genfetd % foTC 3TeT GUTES BN / For proper operation of the transistor, its

collector shall be

(A) WRIS-SIEE / Forward-biased (B) T - ¥1%E / Reverse-biased
(C) TheRe STIS / Fixed-biased (D) 39U W & IS &l / None of the above

31. IR dEe F1 gEd IS RO TeF @ 9 T 8 / The circuit that provides the best
stabilization of operating point is
(A) o9 IR 999 / Base resistor bias
(B) Horael Hiess 99 / Collector feedback bias
(C) wwifaa f&aTget s / Potential divider bias
(D) 39U § B I3 &1 / None of the above

32. Ife et R & R0 AfFaH FogR Fe 4 mA (Breft-wrfir) ® @t <fit Rpaer seiget e
HH ¥ HH S éhr iﬁ%’{l / If the maximum collector current due to signal alone is 4 mA
(Milli-Ampere), then zero signal collector current should be at least equal to
(A) 6mA (B) 4mA
(C) 3mA (D) 1mA
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33. wifem gt it gorm & fufebm gt % T 9 @1 %99 7@ 87 / Which of the

34.

35.

36.

statements is false for Silicon transistor compared to Germanium transistor?
(A) 3= f@ma S| / High leakage current

(B) 3T AW fRRAT / Good temperature stability
() 3= fad SweET diees / High reverse breakdown voltage
(D) Jdgg8Ies dices 31k 8 / Threshold voltage is more

T LC YA H, ST i AR L a7 C &/ In an LC oscillator, the frequency of
oscillator is LorC.

(A) ECuics E'Fl'quTﬁ-r / Proportional to square of
(B) o ¥1& WuIUN / Directly proportional to
(C) T OH ¥ w@ad / Independent of the values of

(D) =+ EITiH\FT + SRATIITG! / Inversely proportional to square root of

T FET (& 99TE ZifoeX) A / In a FET (Field Effect Transistor)

(A) Th THH BRae -g5S & 3R | frad-s@%e / One junction is forward-biased and the
other reverse-biased

(B) ?ﬁ?ﬁ Sy fad - sREe 2 / Both junctions are reverse-biased
(C) TNl SR BHaS~S1%S & / Both junctions are forward-biased
(D) S9URE A ¥ I3 &l / None of the above

THh aTI‘q’Qf EI'I?@E’( EIRSIE) % / The gain of an ideal oscillator is
(A) Tl / Unity (B) R[F/Zero
(C) 34 / Infinity (D) AT ¥ UIST 31Me&h / Slightly more than unity
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37.

38.

39.

40.

41,

(246)s ! SIS A et / Convert (246)g into decimal

(A)  (208)+0 (B) (166)10
(C) (170)0 (D) (168)10

S S 101101+011110 o € F&T 87/ What is the addition of the binary numbers
101101+011110?

(A) 1001011 (B) 1101011
(C) 1011011 (D) 1100011

et fag 9t 5000 wweRy wrewi H ST I Thiha wfthe Juft & Ifaia I #/ Integrated

circuits having complexities of 5000 equivalent gates on single chip falls under the category

(A) HEH AT 0 THIHT / Medium scale Integration

(B) &< YuM W WHHT / Large scale integration

(C) <Ed ﬁ% I | TSI / Very large scale integration
(D) Bl T T THHWT / Small scale Integration

1010110 T 2's & & / 2's Complement of 1010110 is

(A) 0101010 (B) 0101011
(C) 0101001 (D) 0101101

50 Hz (8¢1) 1 $YC TR &% OY -39 UFRBRR A 3=eye Fiaadt =1 87/ What is the

output frequency of full-wave rectifier with input frequency of 50 Hz (Hertz)?
(A) 100 Hz (B) 50Hz
(C) 200Hz (D) 1Hz

12
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42. wié-ufhes Hfex & g anm-—er @fém & / The Ohm-meter reading for a short-circuited

capacitor is

(A) 3 / Infinity

(B) % k (Teret-3TH) / Few kQ (Kilo-Ohm)

(C) F® HieX (WM-314) / Few MQ (Mega-Ohm)
(D) T/ Zero

43. W FgREl F Iad FW 5 fog fFa sl w1 swm fR s @ 1 MHz (3T €E9) / Which

oscillator is used for generating low frequencies < 1 MHz (Mega-Hertz)?

(A) o st 3rieieteX / Wein bridge oscillator
(B) 3ITRHY ITEIE / RC oscillator

(C) hifeued THIIe / Colpitts oscillator
(D) 3WIh ¥ & 15 181 / None of the above

44. TGHNAE 8051 F RST 1 fo7 FsX T Bar 8?7/ What is the pin number of RST in
microprocessor 80517

(A T 7/Pin7 B) T 10 /Pin 10
(c) ™8 /Pin8 (D) = 9/Ping

45. CISC =l Y01 &Y 2 / Full form of CISC is
(A) q;ﬂf few e E’-{a‘ / Complete Instruction Set Computer
(B) T iy V< HRIE / Compact Instruction Set Computer

(C) Sifet IRESaT He HY / Complex Integrity Set Computer

(D) Sfea ﬁ%{!ﬂ £ora E‘l[d'( / Complex Instruction Set Computer
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46.

47.

48.

49,

T Glche S A IT3YE <ol & 918 Tt $9Y 114k BId & / A circuit which gives low output only

when all inputs are high is

(A) ORTZ/OR Gate (B) AND 72 / AND Gate

(C) NAND 7 / NAND Gate (D) NORTE /NOR Gate

2tk TTgC heler SeThd § 8051 Hishlsheler & a1 & wlt 3= Hid & forg fieft Aerft w i =it
AT @E el 82 / Which light is fitted on the yellow light to produce green light in the traffic light

control interface with 8051 microcontroller?

(A) e 9 / Blue lens (B) VT @i / Red lens

(C) &1 /Green (D) R / Orange

Wﬁﬁ-ﬁ@?ﬂ Hitrett EE?:F-‘EFI ¥e ¥ fhae figw 84 €7 / How many instructions are there in

microcontroller family instruction set?
A) 111 (B8) 17
(C) 45 (D) 49

g, A grr EiEt 78 I 9T @ HAshleheioil i I S el S & / The device which

protects the microcontroller from high current drawn by D.C. motor is
(A) W /Fuse

(B) 3M-wI8 Tt / Over-load relay

(C) TmHtst /MCB

(D) 3L MK / Opto isolator

14
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50. e § diEtans 1 31k 8 / PCI in computer stands for

51.

52.

53.

(A) qE vialdgd{ é(-;q-‘ald / Personal Computer Instruction

(B) uftel wes IR / Peripheral Component Intersection

(C) uRH™ ues ZIHFE / Peripheral Component Interconnect
(D) wTufieh T $ETHE / Primary Component Interface

afe w IR &1 ST AG HIRBRIA # 0.95 1 e 19 B, @ o e swifemem 7 gt
T e N9 T BN ? / If a transistor has current gain of 0.95 in common base configuration, then
what will be the current gain of transistor in common emitter configuration?

(A) 19 (B) 95
(C) 20 (D) 0.48

Hedl-agsiet Sl T <l @ 0 3 LT 8, / Multi-vibrator which generates square wave of its
own is

(A) Tos wedt-amgsiet / Bistable multi-vibrator

(B) TR Hedl-amgsieX / Astable multi-vibrator

(C) AHRsd ﬂﬁ:pf—‘el'l?@a / Monostable multi-vibrator
(D) S9URG H & =I5 &1 / None of the above

Had S e G & 1Y JEsiel Githe IdTeT T Ghdl & / The oscillator circuit with only D.C.

power source can be produce

(A) hael AIEAEissd AUl / Sinusoidal wave only
(B) ETr| Al 39 I <@T / Saw tooth wave only
(C) <had TSR T / Square wave only

(D) IW® | & I3 "l / Any of the above
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54.

55.

56.

Frefafaa # @ $ @1 958 THHS IR THRHS JTAfHAT 1 3TN Ul & 2/ Which of the

following oscillators uses positive and negative feedback?

(A) 7 f3rer Atferetet / Wein bridge oscillator
(B) BIew 3Aifieiex / Hartley Oscillator

(C) hietfie T AT / Colpitt's Oscillator
(D) 3UUTH ¥ ¥ SIS T8 / None of the above

T IR 1 Tl e B = 200 Brw 21 A FUEH (1) 12 mA (Freft-wefkr) B, @ 99 e ()
BN / A transistor has a typical value of B = 200. If the collector current (I¢) is 12 mA (Milli-
Ampere), then base current (Ig) will be

(A) 0.75mA (B) 0.06A
(C) 0.06 mA (D) 16.66 mA

it 8 / Windows is a/ an

(A) WU WIS / Programming language

(B) <S2I€H / Database

() TRfEm fm / Operating system

(D) =2 TEH Nrhied / Data transfer protocol

57. &M W1 TOl%RR Yaftfd 78eqe %1 9ga &N fa&awr a1 82/ Which amplifier gives very less

distortion at amplified output?

(A) &1/ Class B (B) & TH! / Class AB

(C) 5 &t /Class C (D) 8T T /Class A

16
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58. STl faviges T Ol & ®9 ¥ %1 UM / RC differentiator will act as a simple

59.

60.

(A) &8 9 fheet / High pass filter
(B) & UTE f%eex / Low pass filter
(C) S urg feex / Band pass filter

(D) ds w9 fheet / Band stop filter

Teefier <6t wifesd S 1 -3 A IR IEISd S AT B SEHR FA HT & &
el ST 8 / The ability of the receiver to tune—in the desired frequency and reject the unwanted

channel frequencies is termed as
(A) Hagsierar / Sensitivity (B) TRt / Stability

(C) =aTHeRaT / Selectivity (D) T3t / Fidelity

T HigeH & / Amplitude modulation is

(A) I e & IgER Atggeifen et % omam # gRadd / Change in amplitude of the

modulating signal according to carrier signal

(B) TigHeie e % HUR aTgh Rpet % 1™ & yiEd / Change in amplitude of the carrier

signal according to modulating signal

(C) s e % Igar Atggfer Rmer & emgfy # wfada / Change in frequency of the

modulating signal according to carrier signal

(D) wigfem Reae % IgER aew e 3mgfy # aRada / Change in frequency of the

carrier signal according to modulating signal
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